
BRG0006 

Page | 1 

FITTING INSTRUCTIONS FOR BRG0006SS RADIATOR GUARD 

KAWASAKI Z900RS 2018 

THIS KIT CONTAINS THE ITEMS PICTURED AND LABELLED BELOW. 

DO NOT PROCEED UNTIL YOU ARE SURE ALL PARTS ARE PRESENT. 

Please note that the way the kit is packed does not necessarily represent the way of mounting to the bike 

Please note that in cases where kits are packed with rubber washers holding the components onto the bolt – the rubber washers 
should be thrown away! 

THE PARTS SHOWN MAY BE REPRESENTATIVE ONLY (FOR CLARITY OF INSTRUCTIONS ONLY) 

 

GENERAL TORQUE SETTINGS

M4 BOLT = 8Nm 

M5 BOLT = 12Nm 

M6 BOLT = 15Nm 

M8 BOLT = 20Nm 

M10 BOLT = 40Nm 

TOOLS REQUIRED 

 Socket set to include 10 socket and wrench or spanner.

 4mm Allen key.

In This Kit There Should Be 
 1 x Radiator Guard (BRG0006SS).

 3 x 100mm Lengths of self-adhesive Foam.

 4 x Cable Ties.

https://www.motorcycleid.com/rg-racing/


BRG0006 

Page | 2 

         Picture 1  Picture 2 

   Picture 3 Picture 4 

      Picture 5 Picture 6 



BRG0006 

Page | 3 

Picture 7 Picture 8 

FITTING INSTRUCTIONS 

 To fit the radiator guard to the bike, cut the foam strip provided into 10mm wide pieces and

stick them to the back of the radiator guard frame, so that they sit between the radiator guard

and the radiator.

 Remove the two-upper radiator mounting bolts arrowed in pictures 1 and 2.

 Remove the lower radiator mounting bolt arrowed in picture 3.

 Offer the radiator guard into position as shown in the top picture and secure using the original

bolts in the upper mounts as shown in pictures 4 and 5 (do not fully tighten at this stage).

 Secure the lower mount using the original bolt as shown in picture 6.

 Use the supplied cable ties to secure the lower radiator guard mounts as shown in pictures 7

and 8.

 Finally tighten all bolts and nuts.

Learn more about motorcycle starting and charging parts on our website.

https://www.motorcycleid.com/starting-charging-parts.html



